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QUESTION 1

Click the Exhibit button. 

Referring to the exhibit, what is the minimum number of MSTP regions where the topology would be implemented? 

A. 3 

B. 1 

C. 2 

D. 0 

Correct Answer: B 

 

QUESTION 2

Click the Exhibit button. 
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All of the clients attached to your EX4300 report that authentication to the network is abnormally slow. While
troubleshooting, you individually test the RADIUS servers used for authentication and receive the information shown in
the exhibit. 

What happened to the RADIUS server 172.28.30.95? 

A. The server is no longer reachable. 

B. The RADIUS daemon went offline. 

C. There is a RADIUS version mismatch. 

D. Someone changed the RADIUS secret. 

Correct Answer: D 

 

QUESTION 3

Which type of BGP is used to peer with a different autonomous system? 

A. external 

B. classless 

C. dynamic 

D. static 

Correct Answer: A 

 

QUESTION 4
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Which three databases are used by the Dijkstra algorithm? (Choose three.) 

A. Tree database 

B. Link State Database 

C. Candidate database 

D. MAC database 

E. Configuration database 

Correct Answer: ABC 

 

QUESTION 5

You are configuring a scheduler map on an EX9200 Series device. You want to ensure that traffic is dropped in a
policing action once traffic exceeds the configured transmit rate. 

Which configuration parameter will meet this requirement? 

A. exact 

B. rate-limit 

C. remainder 

D. percent 

Correct Answer: B 
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